L if5 BY i@

RESHEE

VISION®
M= | E31/E32

1 = @bEiR

1.1 Mg
« DN65x25ZDN200x100

12 EiE

*+ GB/T 3091 (AR ymiA%iik FIRENE)

* GB/T 9163 {fanik i fd FH L4 NE )

* GB/T 17395 ( BAEMER~F. SE. EERAHRE)

1.3 BRRXTEEAH
« £ H % %) 5MPa
o TAEE TG TAT R, BRI 18 M

1.4 Thik
o EEE LB L E

21AIE

HBE
AGE

3 BEMER

3.1 Sh5E. EREHSEL, W GB/T 1348, f-5-QT450-12

3.2 RARE (FiEikm)
O FREM fEmeRr, T BT4IRAL3000

S PR
DS-1452:1.0k%

3.3 BHE:

* EPDM (Z=JCZW) : EATAK. #uk. B, EHESR,
EHIRE-40CE125C

B EHBMTE, HEH LB

3.4 g
« GB/T3098.1 ('ZREFHIMIIERE: B4, IRETAEAE) , 8.8%%
o PR, 48/ITS%EFIRLS, O

3.5 128
+ GB/T3098.2 (X[ MMM ERE: BEE) , 8%

o e o« LR, A8/NIS%EEZFIREE, T4
4 mEHE
SEME | mm HEKE | m MERE | Kv
AFRES SERRIME Atz 0 | E31 PRz | E32 gz | E31 PIRLZ O | E32

25 33.7 1.4 - 385
32 424 1.8 - 690
40 48.3 3.2 - 760
50 60.3 3.0 - 1500
65 76.1 43 43 2250 2250
80 88.9 4.3 3500
100 114.3 5.9 6000

« LB HAIL/min
« MEKERTREIMS, 405 %, HE-BERA%C=120

o

VISION

| 021-5954-6666 |



Liﬁa ﬁ LI RS
DS-1452:1.0f)
BRESEE HBE RS
VISION®
=& | E31/E32
Y y4 Y z
| g g =
|
| o [
\ S
} s N> ‘ £ =
g | mm T/EER | FHER | mm 1212 /125 T V| mm w Y z AE | kg
NIFRER SCRRIME Mpa ZK | &K Mg | #HE | mm | E31 | E32 | mm | mm | mm | E31 | E32
65 x 25 | 76.1 x 337 2.5 381 | 413 | M10x50 | 2 a1 - 58 | 45 | 132 | 59 - 0.4
32 42.4 2.5 445 | 476 | M10x50 | 2 a1 - 60 | 45 | 132 | 65 - 0.5
40 483 2.5 508 | 54.0 | M10x50 | 2 a1 - 60 | 45 | 132 | 70 - 0.5
80 x 25 | 889 x 337 2.5 381 | 413 | M10x50 | 2 47 - 64 | 51 | 146 | 60 - 0.5
32 42.4 2.5 445 | 476 | M10x50 | 2 47 . 66 | 51 | 146 | 66 ] 0.5
40 483 2.5 508 | 54.0 | M10x50 | 2 47 - 66 | 51 | 146 | 72 - 0.5
100 x 25 (1143 x 33.7 2.5 381 | 413 | M12x60 | 2 60 : 77 | 65 | 178 | 60 - 0.8
32 42.4 2.5 445 | 476 | M12x60 | 2 60 - 79 | 65 | 178 | 67 - 0.8
40 483 2.5 508 | 54.0 | M12x60 | 2 60 - 79 | 65 | 178 | 73 - 0.9
50 60.3 2.5 635 | 66.7 | M12x60 | 2 60 . 84 | 65 | 178 | 86 ; 0.9
65 76.1 2.5 69.9 | 73.0 | M12x60 | 2 66 | 95 | 93 | 65 | 178 | 92 | 11 | 1.2
150 x 25 1651 x 33.7 2.5 381 | 413 | M16x70 | 2 86 ; 103 | 92 | 251 | 60 ! 1.5
32 42.4 2.5 445 | 476 | M16x70 | 2 86 ; 105 | 92 | 251 | 67 ; 1.5
40 483 2.5 508 | 54.0 | M16x70 | 2 86 - 105 | 92 | 251 | 74 - 1.6
50 60.3 2.5 635 | 66.7 | M16x70 | 2 86 : 110 | 92 | 251 | 86 - 1.7
65 76.1 2.5 69.9 | 73.0 | M16x70 | 2 93 | 123 | 120 | 92 | 251 | 95 | 1.8 | 1.9
80 88.9 2.5 889 | 921 | M16x70 | 2 ! 123 ] 92 | 251 | 110 | 2.0 ;
100 1143 | 2.5 114.3 | 117.5 | M16x70 | 2 . 125 . 92 | 251 | 136 | 2.4 :
200 x 25 |219.1 x 337 2.5 381 | 413 | M16x70 | 2 | 114 | - 123 | 120 | 310 | 62 . 2.4
32 42.4 2.5 445 | 476 | Miex70 | 2 | 114 | - 125 | 120 | 310 | 69 ; 24
40 483 2.5 508 | 54.0 | M16x70 | 2 | 114 | - 125 | 120 | 310 | 75 . 24
50 60.3 2.5 635 | 66.7 | M16x70 | 2 | 114 | - 130 | 120 | 310 | 88 - 2.5
65 76.1 2.5 69.9 | 73.0 | M16x70 | 2 : 152 . 120 | 310 | 96 | 2.7 .
80 88.9 2.5 889 | 921 | M16x70 | 2 - 152 - 120 | 310 | 115 | 2.8 ;
100 1143 | 2.5 114.3 | 117.5 | M16x70 | 2 . 152 . 120 | 310 | 142 | 3.1 ;

o T:EE L EIBL0HERR
o AR BE S AZ-14525 TR K.
- HEHE, HEE LB,

©

VISION LERBNEERZEGEAERAR | BEEE T X4EZE2215 | 021-5954-6666 | www.visioninc.cn | 1509001:2008 5 £ RIAIE

2




LB M ot

RESHEHE HBIRG

VISION®
WM& | E33/E34/E35

& | mm T{EER | FAER | mm | 2/128 Y V| mm z A5 | kg
RIRER SCRRIME Mpa =k | BK A& | EE mm A8 485 | mm | E33 | E34 | E35
65 x 25 x 25| 76.1 x 337 x 337 | 25 38.1 | 413 | mioxso | 2 |132| - | s8 | s9 | . |o6 | -
32| 424 | 25 445 | 476 | mioxso | 2 |132| - | 60 | 65 | - |06 | -
40 | 483 | 25 50.8 | 540 | mioxs0 | 2 |132| - | 60 | 70 | - |07 ]| -
32 x 32 424 x 424 | 25 445 | 476 | mioxso | 2 |132| - | 60 | 65 | - |07 -
40 | 483 | 25 50.8 | 54.0 | M10x50 | 2 |132| - | 60 | 70 | - |07 | -
40 x 40 483 x 483 | 25 50.8 | 540 | mioxso | 2 |132| - | 60 | 70 | - |07 ]| -
80 x 25 x 25| 889 x 337 x 337 | 25 38.1 | 413 | M10x50 | 2 |146| - | 64 | 60 | - |06 | -
“32 | 424 | 25 445 | 476 | M10x50 | 2 [146| - | 66 | 66 | - |06 | -
40 483 | 25 50.8 | 540 | M10x50 | 2 | 146 - | 66 | 72 | - |07 | -
732 x 32 424 x 424 25 445 | 476 | M10x50 | 2 [146| - | 66 | 66 | - |07 | -
40 | 483 | 25 50.8 | 54.0 | M10x50 | 2 | 146 - | 66 | 72 | - |07 | -
40 x 40 483 x 483 | 25 50.8 | 540 | M10x50 | 2 | 146 - | 66 | 72 | - |07 | -
100 x 25 x 25 |1143 x 337 x 337 | 25 38.1 | 413 | mi12x60 | 2 |178| - | 77 | 60 | - |09 | -
32| 424 | 25 445 | 476 | mi2xe0 | 2 |178| - | 79 | 67 | - |09 | -
40 | 483 | 25 50.8 | 540 | mi2x60 | 2 |178| - | 79 | 73 | - |10 -
50 | 603 | 25 635 | 667 | Mi12x60 | 2 |178| - | 84 | 86 | - |12 | -
32 x 32 424 x 424 | 25 445 | 476 | Mi2x60 | 2 |178| - | 79 | 67 | - |09 | -
40 483 | 25 50.8 | 540 | mi2xe0 | 2 |178| - | 79 | 73 | - |10 -
50 | 603 | 25 635 | 667 | Mi12xe0 | 2 |178| - | 84 | 86 | - |12 -
40 x 40 483 x 483 | 25 50.8 | 540 | mi2x60 | 2 |178| - | 79 | 73 | - |10 -
50 | 603 | 25 635 | 667 | M12x60 | 2 |178| - | 84 | 86 | - |12 | -
50 x 50 603 x 603 | 25 635 | 667 | Mi12x60 | 2 |178| - | 84 | 86 | - |12 -
150 x 25 x 25 |1651 x 337 x 337 | 25 38.1 | 413 | M16x70 | 2 |251| - | 103 | 60 | - |16 | -
32 | 424 | 25 445 | 476 | mMiex70 | 2 |251| - | 105 | 67 | - |17 | -
40 | 483 | 25 50.8 | 540 | M16x70 | 2 |251| - | 105 | 74 | - |18 | -
50 | 603 | 25 63.5 | 667 | M16x70 | 2 |251| - | 110 | 86 | - |20 | -
65 | 761 | 25 69.9 | 73.0 | M16x70 | 2 | 251|123 120 | 95 | - |24 |20
80 | 889 | 25 88.9 | 921 | M16x70 | 2 |251 123 - | 110 | - | - |21
32 x 32 424 x 424 25 445 | 476 | mMiex70 | 2 |251| - | 105 | 67 | - |17 | -
40 | 483 | 25 50.8 | 540 | M16x70 | 2 |251| - | 105 | 74 | - |18 | -
50 | 603 | 25 63.5 | 667 | M16x70 | 2 |251| - | 110 | 86 | - |20 | -
65 | 761 | 25 69.9 | 73.0 | M16x70 | 2 | 251|123 120 | 95 | - |24 |21
80 | 889 | 25 88.9 | 921 | M16x70 | 2 |251|123| - | 110 | - | - |22
40 x 40 483 x 483 | 25 50.8 | 540 | M16x70 | 2 |251| - | 105 | 74 | - | - |18
50 | 603 | 25 63.5 | 66.7 | M16x70 | 2 |251| - | 110 | 86 | - |20 | -
65 | 761 | 25 69.9 | 73.0 | M16x70 | 2 | 251|123 120 | 95 | - |24 |21
80 | 889 | 25 88.9 | 921 | M16x70 | 2 |251 123 - | 110 | - | - |22

©

VISION LSEBNMEZEEERAR | L8R TWXEZE82215 | 021-5954-6666 | www.visioninc.cn | 1S09001:2008 R E 8 R IAIE
3



L g B i@

RESHEHE

VISION®
WM& | E33/E34/E35

/5
DS-1452:1.0kf)
H RS

& | mm THEED | FAER | mm | /128 Y V| mm z A= | kg
RRER SERRIME Mpa | BExX | Bk | & KB mm @& 85 mm E33 E34 E35
150 x 50 x 50 |165.1 x 60.3 x 60.3 2.5 63.5 66.7 M16x70 2 251 - 110 86 - 2.0 -
? 76.1 2.5 69.9 73.0 M16x70 2 251 | 123 | 120 95 - 2.4 | 2.2
W 88.9 2.5 88.9 92.1 M16x70 2 251 | 123 - 110 - - 2.3

65 x 65 76.1 x 76.1 2.5 69.9 73.0 M16x70 2 251 | 123 | 120 95 23 | 2.4 -
W 88.9 2.5 88.9 92.1 M16x70 2 251 | 123 - 110 2.4 - -

80 x 80 88.9 x 88.9 2.5 88.9 92.1 M16x70 2 251 | 123 - 110 2.6 - -
200 x 25 x 25 |219.1 x 33.7 x 33.7 2.5 38.1 41.3 M16x70 2 310 - 131 62 - 2.5 -
? 42.4 2.5 445 47.6 M16x70 2 310 - 133 69 - 2.5 -
W 48.3 2.5 50.8 54.0 M16x70 2 310 - 133 75 - 2.6 -
? 60.3 2.5 63.5 66.7 M16x70 2 310 - 133 88 - 2.8 -
? 76.1 2.5 69.9 73.0 M16x70 2 310 | 152 - 96 - 3.1 |28
W 88.9 2.5 88.9 92.1 M16x70 2 310 | 152 - 115 - 3.4 |29
E 114.3 2.5 114.3 117.5 M16x70 2 310 | 152 - 142 - 3.9 | 3.2

32 x 32 424 x 424 2.5 445 47.6 M16x70 2 310 - 133 69 - 2.5 -
W 48.3 2.5 50.8 54.0 M16x70 2 310 - 133 75 - 2.6 -
? 60.3 2.5 63.5 66.7 M16x70 2 310 - 133 88 - 2.8 -
? 76.1 2.5 69.9 73.0 M16x70 2 310 | 152 - 96 - 3.1 |28
W 88.9 2.5 88.9 92.1 M16x70 2 310 | 152 - 115 - - 3.0
m 114.3 2.5 114.3 117.5 M16x70 2 310 | 152 - 142 - - 3.2

40 x 40 48.3 x 483 2.5 50.8 54.0 M16x70 2 310 - 133 75 - 2.6 -
? 60.3 2.5 63.5 66.7 M16x70 2 310 - 133 88 - 2.8 -
? 76.1 2.5 69.9 73.0 M16x70 2 310 | 152 - 96 - 3.1 |28
W 88.9 2.5 88.9 92.1 M16x70 2 310 | 152 - 115 - - 3.0
E 114.3 2.5 114.3 117.5 M16x70 2 310 | 152 - 142 - - 3.3

50 x 50 60.3 x 60.3 2.5 63.5 66.7 M16x70 2 310 - 133 88 - 2.8 -
? 76.1 2.5 69.9 73.0 M16x70 2 310 | 152 - 96 - 3.1 |29
W 88.9 2.5 88.9 92.1 M16x70 2 310 | 152 - 115 - - 3.1
E 114.3 2.5 114.3 117.5 M16x70 2 310 | 152 - 142 - - 3.4

65 x 65 76.1 x 76.1 2.5 69.9 73.0 M16x70 2 310 | 152 - 96 - 3.1 -
W 88.9 2.5 88.9 92.1 M16x70 2 310 | 152 - 115 3.2 - 3.2
m 114.3 2.5 114.3 117.5 M16x70 2 310 | 152 - 142 3.5 - 3.5

80 x 80 88.9 x 88.9 2.5 88.9 92.1 M16x70 2 310 | 152 - 115 3.4 - -
E 114.3 2.5 114.3 117.5 M16x70 2 310 | 152 - 142 3.6 - -

100 x 100 1143 x 114.3 2.5 114.3 117.5 M16x70 2 310 | 152 - 142 3.9 - -

* PN TR 2 AU =38 R R T AL LY, TEIR VAR A
B NIRAGZ A, THLE GRS AR RS BIH L =18 .

o

+ E33: 24 R EE¥IAE31IRNARESZ O
* E34: 24 L BHNERRINIBRLZ O

« E35: 14N EENE3AgREST O, —A ik RE32BI B O

VISION LERBNEERZRGEAERAR | BEEE T XS ZE2215 | 021-5954-6666 | www.visioninc.cn | 1S09001:2008 FRE R R IAIE

4



	E31E32型机械三通资料-中文-20231127_画板 1
	E31E32型机械三通资料-中文-20231127-02
	E31E32型机械三通资料-中文-20231127-03
	E31E32型机械三通资料-中文-20231127-04

